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FEB AIRDO 100%
F53 JALY )L—T 100%
# ANAY JL—T 100%

OflhE =}

ERER ZEstt PBB{#
T JALG )L—T 67%
FTE ANAY JL—T 82%
] AIRDO 100%

F JALY JL—T 100%

F ANAS JL—T 100%
12 JALY )L—T 83%
126 ANAY JL—T 87%

O#iaZ&

ERER ZEstt PBB{#
FTE JALD )L—T 100%
i ANAY )L—T 100%

F53 JALY )L—T 99%

# ANAY )L—T 100%

F IBX 100%

2 ANAS JL—T 100%
2 7Y F)=LI7FAVR 100%

O/ ZE}

ERER ZEstt PBB{#
FIH JALD )L—T 100%
FH ANAY )L—T 100%




OARERZE}

BRER fnZesit PBB{ff®E
FH JALT )L—T 97%
FH ANAS )L—T 97%
FH AHAT—4 90%
BH ANAS JL—T 100%
oAz Peach* Aviation 0%
FH DIYrRE— T\ 52%
B H IN=F-IF 0%
i JALY )L—T 96%
FE ANAS JL—T 66%
th g STy RE—- TRy 76%
FE ANhL4<—4 49%
FE VYSURIT 93%
F JALY JL—T 100%
F ANAS )L—T 100%
Ealii] JALY )L—T 72%
E3kic] ANAY JL—T 83%
Eakif] Peach* Aviation 0%
3] DIYbRE—- Ty 70%
A AHAT—4 71%
#HE JSURIF 71%
& JALST IL—TF 98%
2 ANAS JL—T 97%
12H Peach-Aviation 0%
12 ANAI—4 66%
=2 JALST IL—TF 99%
=2 ANAS JL—T 94%
ais JALY JL—T 98%
ais ANAS )L—T 98%
HaiE VYSURIT 85%

OKXRZE}
BRER fnZesit PBB{ff®E
FIH JALD )L—T 100%
FH ANAY )L—T 100%
FH YSURIF 100%
F53 JALST IL—TF 69%
ORIGZ*
BRER fnZesit PBB{ff®E
FIH JALT )L—T 100%
FH ANAS JL—T 100%
FH YSURIF 100%
F JALY JL—T 100%
F ANAS JL—T 100%
OREARZH
BRER nZEstt PBB{f R ®E
FIH JALG )L—T 100%
FH ANAS JL—T 100%
FH YSURIF 100%
F JALY JL—T 99%
F ANAS JL—T 100%
OElFZeH
BRER fnZesit PBB{f R ®E
FIH JALZ )L—T 100%
FH ANAS JL—T 100%
FH YSURIF 100%
F JALY JL—T 100%
F ANAS JL—T 100%
2 JALST IL—TF 100%
2 ANAS JL—T 100%
OERBEZE
BRER fnZesit PBB{f fE
FIH JALT )L—T 100%
FH ANAY )L—T 100%
FH AHAT—4 98%
FH YSURIF 100%
FEp ANAY )L—T 100%
g Ef STy RE—- TRy 99%
F JALY JL—T 100%
F ANAY )L—T 100%




